Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. Max. Marks: 80

Note: Answer any F
ONE full que,

1 (04 Marks)
0ss AB in the network shown
(06 Marks)
c. A coil 0
has a mea nd Cr
amp%?‘é@@ﬂows through the coﬂ.‘«Emd
1) Flux in the core
i) Inductance of the coﬂ"g‘x
iii) The e.m.finclud he coil if the ﬂwg@fa@
iv) Now if another si coil is placed
the coils. Find the'mutual inductanc (06 Marks)
P . @
& OR
2 a. State Fleming’s. ght hand rule. MQ n its application. ¢ (04 Marks)
b. A resmta%ced?bf 10Q is comecéfd in series with thes two resistances each of 15Q arranged in
parall at resistance must be shunted across@;lw parallel combination so that the total
curr ken will be 1.5%@%@&"20\7 supply applied? (06 Marks)
c. Coils A'and B in magpetitacircuit have 600~and 500 turns respectively. A current of 8A in
QplfA produces a flux 0f 0704 Wb. If coefficient of coupling is 0.2, Calculate :
N@% Self inductancetof coil A with B opgﬁfjiirculted
»11) Flux lmkmg&ﬁm:h coil B é
ii1) The average@e%m f induced m%ll B when the flux with it changes from zero to full
value in‘0:0; N
’ o (06 Marks)
p Module-2
3 a. Withaneat sketch expgﬁ% the construction of a DC machine. (06 Marks)
b. State the application of BC shunt motor and DC series motor. . (04 Marks)
c. A 4 pole. 220V Lap connected, DC shunt motor has 36 slots. Each slot containing 16

conductors. It draws a current of 40A form the supply. The field resistance and armature
resistance arewlz 00, 0.1Q respectively. The motor develops an output power of 6KW. The
flux for pole is 40 MWb. Calculate :

i) The speed ii) The torque developed by the armature iii) The shaft torque. (06 Marks)
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Explain different characteristics of a DC series motor. (05 Marks)
With the help of neat diagram, explain the constructlon and principle of operation of single
phase energy meter. (06 Marks)

An 8 pole, Lap-connected armature has 40 slots wi

\ Iﬁ conductors per slot, generates a
voltage of 500V. Determine the speed at which {g% is ! nning if the flux per pole is 50 MWb.

%&A (05 Marks)
Module:3'¥

With a neat circuit diagram and a switchirg §Ble explain three way e n”ﬁxol of lamp.
¢ ¥ (04 Marks)
Derive an expression for RMS value of %%*altematmg quantity. (06 Marks)
Two impedances of Z; = 10 + j15Chand Z, = 6 — j8Q are connected in parallel. If the supply
current is 20A. What is the pow 1§81pated in each brancgwgzﬁ (06 Marks)

,«@m OR wg
Show that the average poweié C;g%sumed by pure indugtoris zero. (05 Marks)
; (06 Marks)
équency of 60Hz has dn ax1mum value of 12A

(06 Marks)

urrent in a three phase balanced

delta con ected system. (05 Marks)
Discuss the different types of rotor used in alternataf J (07 Marks)
A3 phase star connected sy;gtem has 4Q resistan lﬁ series with ap- ctance of 10mH per
phase is applied volta s 415V with freque@ vof 50 Hz. Find' fﬁ% power drawn by the

ircui @, PR 4 (04 Marks
(05 Marks)

0° are connec;tkdﬁn star to a 3 phase, 400V, 50Hz
supply. Fmdg the reading on edch of the two watt ers connected to measure the power
input, A& - v (05 Marks)
A 3—pl'§?e 6-pole, star co&mec‘ﬁ%’d alternator rev%lves at 1000rpm. The stator has 90 slots and
8 conductors per slote= ,e-" flux per polé*» Is 0.05 Wb. Calculate voltage generated if
0.96. - V‘“‘» (06 Marks)

' O
4 Module-S

Explam the principle of operatlon ofa 3-phase induction motor. (05 Marks)
ke

ictional details of core and shell type transformer.

% (06 Marks)
~6000/400V 50Hz “single phase transformer has 100 turns in the secondary.
1) Full load prlmar turrent and secondary current ii) number of turns in the primary

1 (05 Marks

OR

' (05 Marks)
sion for frequency of rotor currents. (04 Marks)
A 600 KVAﬁtransformer has an efficiency of 92% at full load, unity pf. and at half load,
0.9 pf »DA rmine its efficiency at 75% of full load and 0.9pf. (07 Marks)

***20f2***



